
br:Buffer

c1r:Cell c2r:Cell

L

next

last

br:Buffer

c1r:Cell c2r:Cell

K

next

br:Buffer

c1r:Cell c2r:Cell

or:Object

R

next

last

val

c1f:Cell
C1

c1f:Cell c2f:Cell
C2

next

∅

br:B

c1r=c1f:C c2r:C

or:O

O1

last

val

br:B

c1r=c1f:C c2r:C

c2f:C or:O

O1
1

next

last

val

br:B

c1r=c1f:C c2r=c2f:C

or:O

O2
1

last

val

∨

br:B

c1r=c1f:C c2r=c2f:C

or:O

O3
1

last

val

∨

br:B

c1r:C c2r=c1f:C

or:O

O2

last

val

∧

br:B

c1r:C c2r=c1f:C

c2f:Cor:O

O1
2

last

val next

br:B

c1r=c2f:C c2r=c1f:C

or:O

O2
2

last

val

∨

br:B

c1r:C c2r:C c1f:C

or:O

O3

last

val

∧

br:B

c1r:C c2r:C c1f:C

c2f:Cor:O

O1
3

last

val next

br:B

c1r:C c2r=c2f:C c1f:C

or:O

O2
3

last

val

∨

br:B

c1r=c2f:C c2r:C c1f:C

or:O

O3
3

last

val

∨

br:B

c1r=cf:C c2r:C

N1

last

br:B

c1r=c1f:C c2r:C

c2f:C

N1
1

next

last

br:B

c1r=c1f:C c2r=c2f:C

N2
1

last
∨

br:B

c1r=c1f:C c2r=c2f:C

N3
1

last ∨

br:B

c1r:C c2r=cf:C

N2

last ∧

br:B

c1r:C c2r=c1f:C

c2f:C

N1
2

last

next

br:B

c1r=c2f:C c2r=c1f:C

N2
2

last
∨

br:B

c1r:C c2r:C cf:C

N3

last ∧

br:B

c1r:C c2r:C c1f:C

c2f:C

N1
3

last

next

br:B

c1r:C c2r=c2f:C c1f:C

N2
3

last
∨

br:B

c1r=c2f:C c2r:C c1f:C

N3
3

last ∨

br:B

c1r=cf:C c2r:C

D1

br:B

c1r=cf:C c2r:C

c2f:C

D1
1

next

. . .

. . .

Ergebnis: ∀
(
L → N1, ∃(N1

1 ∨ N2
1 ∨ N3

1 )
)

∧ ∀
(
L → N2, ∃(N1

2 ∨ N2
2 )

)
∧ ∀

(
L → N3, ∃(N1

3 ∨ N2
3 ∨ N3

3 )
)

∀

∀ ∀ ∀
∀∀∀

∃

∃ ∃ ∃
∃ ∃

∃ ∃ ∃

∃∃∃

∃∃

∃∃∃


